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(b) What is radix of the numbers if the solution to th
: e

(2)

quadratic equation
X*= 10x + 31 =0 is x=35 and x = 89
(¢) Represent the following conditional control

statement by two register transfer statements with

control functions.

If (P=1) then (RI « R2) else if (Q=1)-then
(R1 « R3) (2)

(d) State any two differences between combinational
and sequential circuit. (2)

(e) Give the char&ct@is lc’é‘\ e of JK flip-flop. (2)

\Q‘b

fow many flip-flops

binary counter?

(2)

ﬁM words x 32
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ion be executed

(1) Can the 'ﬂHt‘l\\'jn!_ 1111(1'..101,1&,‘.1'3“

during a single clock pulse in the 8 )‘Hcm" Qpccify

a sequence of microoperations that will perform

the operation
IR « M[PC] )

) How many flip-flops will be cumplcmcntcd in an

R-bit counter to reach the next count after:

(1) 01100111
() 11111111 (2)

(k) Convert the following de@ma f umbers to the base

indicated S\\
S

(i) 7562 tobet:
i) §@
(2)

E 1 N terface.
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Register A (before operation) 1010

Register B (logic operand) 1100

Show the contents of A using the contents of B

after performing the following operations.
(1) Mask operation
(i1) Selective Complement (4)

3. (a) Design a 4-bit combinational circuit decfementer
using four full-adder circuit. Explain its working.

(6)

Boolean function using four-
Products (SOP) form.]

(b) Simplify the

6,7,8,10,13,15). (4)

cation 300 with its
The address field

jister R1 contains
ective address if
struction is
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(6)

X " . ( riSth.
(iii) index with R1 as the index €8
Memory Access

s DMA transfer
(4)

(b) Explain the concept of Direct
using block diagram? How doe
take place?

; e : : mats?
5. (a) What are the different types of instruction for

: . ] _ e
Given the following instructions (in hexadecimal)

identify the category to which each of these

belong.
(1) F800
(i1) 7800 L (6)
S A
(b) Design a 3x8 dec@r using 2x4 decoders. Explain
its working. Q\Q% 'Qf-.:'z il 4)

~arithmetic
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